
 

 

 

 

CONT.ACT 
for large organ, electronics and motorized percussion- 

objects (1 performer) 

 

duration approx. 11’ 

 

Morten Ladehoff 2019 

 

 

 

 





Preparation 

 
II:                              III: 

Sustain these chords on the two upper manuals. Use weights or wedges. The chords are only 
sounding when a stop is activated according to the notation of the top staff-line.  

 

 

 

I:  

   Attach 2 piezo contact-mics on the low D an E at the first manual.  

 

 

 

 

    

 

Place the object-controler on the left side of the second manual.  

 

 

 

 



 

 

The signals from the 2 piezos are connected to the following max/msp path. Weak signals (light key-touch) triggers a square wave sample and a strong 
signal (fast/heavy key-stroke) triggers a noise sample. The samples are outputted in an ordinary 2-channel setup.  

  

 

 

 

 

 

 

 

 

 

 

 

 

The 2 motorized percussion-objects (M1 and M2) are placed fare apart at each side of the stage/organ-balcony like the speakers.  

 

 

Contact the composer for more info (files and objects): 

ladehoff5@hotmail.com  

 



Notation 

 
  

 Fermatas/general pause. From short (1’’) to very long (5’’-8’’).   
   
 
 
 
 

 Play the measure 5 times in total. 

 

 

 

 Play the stops. Downstem = second manual. Upstem = third manual. 

 

 

Play the piezo-mic keys. Slashed notehead = very light touch (triggers the square-wave samples). 
Crossed notehead = fast/heavy stroke (triggers the noise samples). 

 

 

Play the motorized objects with the contacts at the control-box (left hand). Upstem = M1 (high pitched 
wood). Downstem = M2 (low pitched metal). 
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III (Chord from Db) 
II (Chord from C)   

M1 (high)
M2 (low)
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90

Improvise on the following elements (the notes Eb, E, D). Total duration approx. 2'. 

Repeating figures (like in the first part) combined with unpredictable textures. 

Gradual increase of density and level of energy/virtuosity. 

Overall crescendo. 

90

90

90

90

˙˙b ˙˙n# ~

Cadenza - improvvisazione
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rœb

! ëœn ‰ ëœ œb
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˙b ˙̇ ˙̇̇ ˙̇̇̇b

¿> ¿> ¿> ¿> ¿> ¿>
Œ Œ

Œ – – – – – – –– – – – – – – –

W#
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Ï

U
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&
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n
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?

?
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Œ – – – – ë–. ‰ Œ Œ Œ ì–> ‰ Œ

Œ Œ Œ œœbn Œ Œ Œ œ# œ œ# Œ Œ Œ3

& ?

Œ Œ Œ Œ ¿>
Œ Œ Œ ¿>
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Œ Œ – Œ Œ Œ – Œ Œ Œ Œ

œœnn œœ Œ Œ Œ ìœn . ‰ Œ Œ Œ Œ Œ

n
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Œ – – – – ë–. ‰ Œ Œ Œ ì–> ‰ Œ

Œ Œ Œ œœn# Œ Œ Œ œ œn œn Œ Œ Œ3
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Œ Œ Œ Œ ¿>
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n
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Œ – – – – ë–. ‰ Œ Œ Œ ì–> ‰ Œ

Œ Œ Œ œœb Œ Œ Œ œ œb œn Œ Œ Œ3

& ?

Œ Œ Œ Œ ¿>
Œ Œ Œ ¿>

Œ œ& ?

Œ Œ – Œ Œ Œ – Œ Œ Œ Œ

œœ œœ Œ Œ Œ ìœ# . ‰ Œ Œ Œ Œ Œ
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q = 101
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& ?

109

Œ Œ Œ Œ ¿>
Œ Œ Œ ¿>

Œ œ& ?

109
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109 œœbb œœ Œ Œ Œ ìœ. ‰ Œ Œ Œ Œ Œ

n
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Œ – – – – ë–. ‰ Œ Œ Œ ì–> ‰ Œ
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& ?
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& ?

Œ Œ Œ Œ ¿>
Œ Œ Œ ¿>
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